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Answer  questions 

 

 

The United States is the world leader in biopharmaceutical research and development (R&D). 
In particular, San Francisco Bay Area and Northern California have the largest concentration 
of biotech companies in the nation. It is home to nearly 1,377 life science and biotech 
companies that employ more than 140,000 people. Bioscience companies based in the Bay 
Area reported total worldwide revenues of $4.1 billion and exports worth $2.7 billion. 

The largest aggregation of research universities and federal research institutions in the U.S. is 
also in the Bay Area. “We are located in Emeryville, Calif. to leverage the rich intellectual talent 
in the San Francisco Bay Area, collaborating with academic institutions and biotechnology 
companies to improve patient outcomes.” said Mariellen Gallagher, a spokesperson for 
Novartis Institutes for BioMedical Research, the drug discovery unit for Novartis. 

According to the Pharmaceutical Research and Manufacturers Association (PhRMA), U.S. 
firms conduct the majority of the world's research and development in pharmaceuticals and 
hold the intellectual property rights on most new medicines. Its strengths include an intellectual 
property system that rewards innovation through patent and data protection, a science-based 
regulatory system that is considered the most rigorous in the world, the world’s largest scientific 
research base fostered by academic institutions and decades of government research funding, 
and robust capital markets.  

Source: , accessed 10 August 2017

Source: , accessed 10 August 2017 

The policy debates in the pharmaceutical industry revolve around promoting innovation and 
increasing competition in markets. The level of R&D in the industry relies heavily on the patent 
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system. The firm which developed the drug are rewarded from monopoly profits of the drug 
sales for the duration of the patent. Discovery of new drugs confer benefits to the society with 
more effective and improved health outcomes. On the other hand, once the patent expires, the 
entry of generic drugs manufacturers erodes patent-protected monopoly profits and reduces 
the associated society’s deadweight losses. Although the patent on an innovative drug expires 
on a specific date, the drug's trademark may live on and possibly delaying or impeding 
subsequent competition.  

Because regulation and patents has had important effects on the level of innovation in the 
pharmaceutical industry, a great deal of research has been done on this trade-off between 
innovation and competition.  

Source: accessed 10 
August 2017

Generic medicines are proven to be chemically and therapeutically equivalent to originator 
brands, but are significantly cheaper. Generic drug manufacturers do not incur R&D costs and 
are able to offer a significant price advantage to the originator brand. The use of generic 
medicines has been seen in many countries as a partial remedy to address the problem of 
ever increasing expenditure on pharmaceuticals.  
Falling drug prices can have a tangible impact on one’s treatments for illnesses that take a 
particularly large toll on the nation’s health. For example, the cost of high cholesterol 
medication fell by 10 percent for a 30-day supply, which quickly reduces the healthcare 
spending for patients who have chronic conditions like excess cholesterol and diabetes. 

Source: , The London School of Economics and Political Science, accessed 10 
August 2017 

Over the last 10 years, the export prowess of India’s generic pharmaceutical industry has 
reshaped the global pharmaceutical business. Since the 1970s, with the abolition of patent 
protection rights, India’s pharmaceutical industry has been dominated by home-grown generic 
drug makers. Indian generic drug makers also managed to gain a foothold in regulated markets 
such as the US and Europe. In fact, Indian companies are second only to US-based companies 
in approval of generic drugs, maintaining a total share of nearly 30%-40% on a consistent 
basis.  

Countries in the European and African regions are also the prime consumers for Indian 
generics medicines. Increasing influence of foreign multinationals has become a cause of 
concern for authorities and market players. At the same time, patent expiries may turn out to 
be a growth booster.  

However, quality issues are an ongoing challenge for the Indian pharmaceutical industry. US 
Food and Drug Administration (FDA) has not only increased the frequency of its inspections 
but also intensified scrutiny on drug manufacturing facilities in India, resulting in delayed 
product approvals or restrictions in export to the US market. 

Source: , 29 February 2016 
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For decades, the pharmaceutical industry has been highly profitable. The recipe for such 
profits has been pretty simple for most of the last half-century – discover a chemical or 
molecule that treats a common problem, like hypertension or diabetes and make billions of 
dollars while that product is still under patent protection. But of course, profits were never so 
simple. It takes billions of dollars to develop one new drug suitable for testing in humans and 
even then, the drug might turn out to be too toxic or to have too little benefit to make it on to 
the market. It might take a handful of such drugs before a company finally finds one that works 
to recover the rising cost of new drug development. With the number of common illnesses in 
need of interventions dwindling and competition from generic manufacturers, it is getting 
increasingly difficult to earn enough to make up for the competition and cost of innovation.  

Source: , 29 July 2016

In extract 1, it is mentioned that San Francisco Bay Area and Northern California have 
the largest concentration of biotech companies in the nation. 

Explain how this might bring about cost savings to the biotech companies.   [4] 

Describe the trend in projected total worldwide pharmaceutical R&D spending 
from 2016 to 2022.    [2]

Explain one reason for the trend observed above.     [2]

Explain how the entry of generic drugs manufacturers after expiration of patent 
“reduces society’s deadweight losses” from monopoly pricing under patent.            [4]

Discuss the macroeconomic impact of the rise of India’s generic pharmaceutical 
industry on US and India.                                                                                            [8]

The case study highlights various benefits and costs of the pharmaceutical industry to 
society. 

Assess whether regulation through patent is the most appropriate form of government 
intervention in the pharmaceutical industry to maximise benefits to society.           [10]

[Total 30 marks]
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The US economy barely grew in 2015 as a strong dollar sapped exports, manufacturing 
declined and consumer spending cooled. Consumer spending, which makes up about two-
thirds of gross domestic product, rose 2.2 per cent, marking a slowdown from the 3 per cent in 
the third quarter. Meanwhile, investment fell 2.5 per cent as energy companies pared back 
spending in light of the fall in the price of crude oil. The economy has added 13.6m jobs since 
bottoming in 2010. However, the central bank noted that economic growth is slow even as the 
labour market conditions improved.  

During the last few decades, income inequality has increased significantly in the US. In 2013, 
the national Gini Index stood at 0.476, up from 0.463 in 2007 and 0.397 in 1967. With an 
expanding share of the gains from economic growth flowing to a tiny fraction of high-income 
US households, average family income for the bottom 90 percent has been flat since 1980. 
The slow wage growth of the America’s middle class partly owes to a slowdown in productivity 
growth. 
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Source: , 29 January 2015 

Economic Professor Kaushik Basu at Cornell University says that one of the biggest 
challenges economists and politicians have to face is that the increase of technology has 
spurred the globalisation of labour in a way never before encountered.  

According to Basu, the sharp rise in technology that links workers in different places now allows 
wealthy nations to access cheap labour that was earlier tucked away in faraway places. The 
ability to outsource workers has improved world GDP and the standard of living for people in 
developing countries and thus should be celebrated. But the problem is the “bottom end of 
labour” in rich countries like the US is now in direct competition with “workers in poorer 
countries who command a much lower wage”. 

Basu says that while poverty is improving in developing countries, this competition for labour 
“is causing inequality to get exacerbated” in wealthy countries. This highlights that the winners 
from globalised labour are not just the worker in the poor nations, but the firms in the wealthy 
ones. He also argued that the push towards greater protectionism is precisely the wrong path 
to take. Instead, governments need to focus more on distributing profits to workers. 

Outsourcing has actually been very good for economic growth in wealthy nations such as the 
open economy in the US of the 1980s and 1990s. He argues that, were the US under a 
protectionist trade policy to block the outsourcing of labour it would look very good “at first sight” 
because it would seem like “you’re protecting jobs among your own workers in your own 
country”. But he argues what would happen is that other nations would continue to use the 
cheap labour and would outcompete the protectionist nation. 

Basu argues that “GDP growth is not an end in itself”. Often those who argue in favour of 
reducing income inequality do so by arguing that it “is actually good for GDP growth”. He 
argues however that while this is often the case, reducing income inequality may slice off a 
little of the GDP growth. He argues that the way to respond is for both an open economy (which 
is good for GDP growth), but also that governments must “think of some form of redistribution 
so that workers get their income shored up or take the form of better services likes health and 
education. To this end, while not discounting the idea of a minimum wage, he argues “the time 
has come to allow workers to get a share of profits”.  

Source: Adapted from , 29 Nov 2016 

Economists say that some inequality is needed to propel growth. Without the carrot of large 
financial rewards, risky entrepreneurship and innovation would grind to a halt. However, the 
recent rise in inequality has prompted a new look at its economic costs. Inequality could impair 
growth if those with low incomes suffer poor health and low productivity as a result, or if, as 
evidence suggests, the poor struggle to finance investments in education. Inequality could also 
threaten public confidence in growth-boosting policies like free trade, fuelling calls for greater 
protectionism.  Economic eminences such as Ben Bernanke and Larry Summers argue that 
inequality may also contribute to the world's "savings glut", since the rich are less likely to 
spend an additional dollar than the poor. 

Crafting a response to rising income inequality is tricky, however. Some of the negative impact 
of income inequality on growth can be blamed on poor government policies in highly unequal 
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countries.  Over the past generation or two, inequality has risen most in places where 
progressive policies, such as high top tax-rates, have been weakened. A little more 
redistribution now might improve economic growth.    

Source: Various 

One key area of focus for Singapore policymakers is how to make sure no one is left behind. 
Several key measures have been put in place in recent years, chief among them SkillsFuture. 
Its initiatives, announced in Budget 2015, aim to provide a range of opportunities for workers 
to continue their education and training so that they can improve their skills and incomes 
throughout their careers. Another example is the $8 billion Pioneer Generation Package to 
help citizens aged 65 and above in 2014 meet their healthcare costs for life, with subsidies on 
medical services. 

DBS economist Irvin Seah points out that it is the Government's prudence in adding to and 
managing its reserves over the decades that has allowed it to deliver such packages in the 
first place. 

But as the Singapore economy moves forward, the Government has to account for increased 
spending in healthcare and eldercare and a changing revenue base, said Mizuho Bank 
economist Vishnu Varathan. The challenge is how to do so without overtaxing the working 
class over the next 10 to 15 years. 

One way would be to raise the current 7% GST, noting that many countries have 10% or more. 
But several ministers have said that the Government has no plans to raise the GST for now, 
and would not do so without justification. Retired four-term MP Inderjit Singh hoped higher 
taxes could be avoided, as the cost of living is already a big issue in Singapore. 

Source: , 27 Sep 2017 
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Describe the overall economic performance of the US between 2008 and 2015? 
 [2] 

 
Explain how a strong US dollar would affect the economic performance of US in 
2015 as shown in Table 1.                                                                                     [2] 
 
Using demand and supply analysis, explain how the competition for labour is 
“causing inequality to get exacerbated” in wealthy countries.                              [4] 

With the use of a diagram, explain an argument for and against the implementation 
of a minimum wage as mentioned in Extract 7.                                                    [4] 

Discuss the impact of globalisation of labour on various groups of economic agents 
in developing countries.                                                                                                              [8] 

Extract 9 mentioned that Singapore has shifted towards inclusive growth.  

Discuss whether US should follow Singapore’s approach towards growth.       [10] 

[Total: 30]
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Answer  questions in total. 

 of your three chosen questions must be from this section. 

Malaysia implemented a 6 per cent Goods and Services Tax (GST) in 2015 on all 
goods and services except for staple food and some medicine. 

Discuss the various impact of such a tax on consumption and production decisions in 
various markets.                                                                                                        [25]

In July 2017, giant e-commerce player, Amazon, launched its Prime Now services in 
Singapore. Prime Now allows Singapore users to place online orders through its phone 
app, for same day delivery on a range of retail items from food to electronic to baby 
products. 

Explain why the retail market in Singapore is contestable.     [10]  

Discuss the extent to which large firms in Singapore’s retail market is better able 
to survive the entry of new competitors such as Prime Now as compared to 
smaller firms.                                                                                                                [15]

Explain how rational decision-making by consumers and producers results in 
efficient resource allocation in a free market.                                                    [10]

In Singapore, Citizens and Permanent Residents have to pay an entry fee of 
$100 to enter into casinos for 24 hours while in Malaysia, it is free of charge. 
However, in both countries, there is an age limit of 21 years old and above to 
enter casinos.  

Assess why governments may impose different policies in tackling market failure 
associated with the same demerit good.                                                                         [15]
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 of your three chosen questions must be from this section. 

In 2016, Singapore’s GDP at 2010 prices grew by 2 per cent, the unemployment rate 
rose slightly to 2.1 per cent while the inflation rate stood at negative 0.5 per cent. The 
external demand, supported by both merchandise exports and services exports, grew 
at a slower pace of 1.6 per cent. 

Explain how the above economic indicators can be used to assess Singapore’s 
economic performance.          [10]

Assess the usefulness of the above economic indicators as measures of 
changes in standard of living in Singapore.                                         [15]

Assess the relative effectiveness of demand-side and supply-side policies in achieving 
macroeconomic objectives in Singapore.                                                                       [25]

Globalisation has brought about greater exchanges of goods and services, capital and 
labour between countries. Some countries embraced it while other resisted it. 

 
Explain the reasons for increasing globalisation.                                                [10]

Evaluate why different countries may have different responses towards 
globalisation.                                                                                                     [15] 
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(a) In extract 1, it is mentioned that San Francisco Bay Area and 
Northern California have the largest concentration of biotech 
companies in the nation.  

Explain how this might bring about cost savings to the biotech 
companies. 

Answer 
Biotech firms can benefit from reaping external EOS having the 
largest concentration of biotech companies in the nation.  

As mentioned in extract 1, the 1,377 life science and biotech 
companies employs more than 140,000 people. This suggest a 
developed pool of skilled workers has been established in the region 
where the firms can leverage the rich intellectual talent in the San 
Francisco Bay Area. Firms benefit from lower search and recruitment 
cost of labour. 

San Francisco’s Bay area and North California has the world’s largest 
scientific research base fostered by academic institutions and 
decades of government research funding. Firms can hence obtain up-
to-date information on production at a lower cost by sharing the cost 
of research instead of spending on expensive research 
independently. 

2m for each type of external EOS. 

[4] 

(b) 
(i) 

Describe the trend in projected total worldwide pharmaceutical R&D 
spending from 2016 to 2022. 

Answer 
Projected total worldwide pharmaceutical R&D spending from 2016 to 
2022 has been increasing at a rather constant rate.  

OR 
Projected total worldwide pharmaceutical R&D spending from 2016 to 
2022 has been increasing at an increasing rate. 

1 m for identifying increase 
1m for constant rate of increase or increased rate 

[2] 

(ii) Explain one reason for the trend observed above. 

The increase in projected R&D spending is due to lowered cost of 
R&D as evidenced in Extract 1 where there has been decades of 
government research funding which subsidises the firms’ research 

[2] 

al wowowowowowow rlrrlrlrlrr dwwwididideee eeee phphphphphphphararmamamamamamamaacecececcc uuuticccaaal RRRRRRRRRRRR&D&D&D&D&&& ssssssssspepeppp ndndiningg fr
en iiincrrrrrrreaeeaeaeeeasisisiisiis nnngnnn aaaaaattttt t ananananananan iiiiincncncncnncnn rerereererereeassasasasasassiininii g rarararatettetete..

fyiniiii g iini crease 



cost. 

OR 
An intellectual property system that rewards innovation through 
patent and data protection helps protect firms’ profits from sale of 
drug during patent period. This encourages firms to continue R&D in 
expectation of possible future profits with new drugs invented.  

1m for stating the reason 
1m for explanation 

(c) Explain how the entry of generic drugs manufacturers after expiration 
of patent “reduces society’s deadweight losses” from monopoly 
pricing under patent. 

Entry of drug manufacturers after expiration of patents increase 
number of firms in the market. [1] 
Demand for firm (AR) decreases and become more price elastic. [1] 
With the fall in price and quantity, mark up between P and MC is 
reduced. [1] 
This reduces the DWL area. i.e society’s deadweight losses. [1] 

[4] 

(e) Discuss the macroeconomic impact of the rise of India’s generic 
pharmaceutical industry on US and India. 

Rise of India’s generic pharmaceutical industry has largely positive 
impact on India and negative impact on US 

Positive impact on India 
With reference to extract 4, Indian generic drug makers managed to 
gain a foothold in regulated markets such as the US and Europe, 
being second only to US-based companies in approval of generic 
drugs and with countries in the European and African regions also 
being its prime consumers. This indicates increase in X volume and 
hence revenue of India in generic drug exports. Also, investments in 
India’s pharmaceutical industry is likely to increase with prospering of 
the industry. Hence, AD increases as shown in figure 1 above, 
resulting in economic growth and improving BOP. More jobs are also 
likely to be created lowering cyclical unemployment. 

Evaluation 
However, quality issues are an ongoing challenge for the Indian 
pharmaceutical industry. US Food and Drug Administration (FDA) 
has not only increased the frequency of its inspections but also 
intensified scrutiny on drug manufacturing facilities in India. To 
continue to export to the US market, firms in India has to ensure that 
they meet the stringent criteria and standards of FDA in drug quality.  

Negative impact on US 
As generic drug manufacturers in India do not incur R&D costs, they 

[8] 

cooooononnnn mimimmimiic cc c grgggg owowwowowowth aaaaaandndndndndndnd impmmm roooovivvvv ng BOP. Moorere jo
eatatatttttedededededed lowwwwerrrrrrrinnnnnnnnggggggg cyyyyyyyyclclclclcclicicccccalaaaa  uneeeempmpmpmpmpmpmpplololololoymymymymymyy enent.t. 

aliilitytyty iiiiisssssssssssssss ueueueueueuues ss ss ararararra e ananananananaan oooooooongngngngngnngnggoooioo ng cchahalllenengege for
cal industry US Food and Drug Administra



able to offer a significant price advantage to the originator drug brand 
of US firm. This suggests an increase in imports volume into US and 
hence import expenditure increases as patients switch to generic 
drugs as close substitutes since generic medicines are proven to be 
chemically and therapeutically equivalent to originator brands, 
evidenced in extract 3. Also, countries in the European and African 
regions are now prime consumers for India generics medicine as 
evidenced in extract 4. This suggests a fall in demand for US 
produced drug exports to these regions with the higher competition 
from India. X volume and hence revenue for US drug falls too.  This 
worsens both AD and BOP of US, which may lead to higher 
unemployment rates.  

Evaluation 
Impact of competition is not only with US companies of brand drugs 
but also generic drug companies in US.  Impact on macro goals could 
be more significant. However, being the world leader in 
biopharmaceutical research and development (R&D), with an 
intellectual property system that rewards innovation through patent 
and data protection, there is still room for US brand drugs companies 
to innovate on new drugs so as to capture sales and revenue in new 
drugs introduced. Investment level from the industry could still be 
high, hence mitigating impact on goals. 

Also, introduction of generic drugs results in fall in drug prices. For 
example, in extract 3, fall in cost of high cholesterol medication 
quickly reduces healthcare spending for patients. This improves SOL 
for patients in US as savings from lowered drug price can be used to 
spend on consumption of other goods and services.   

Conclusion 
India likely to benefit from rise of India’s generic pharmaceutical 
industry as they expand to European and African regions beyond US. 
i.e less impact on stringent quality control of FDA and rapid
expansion of markets 

US on the other hand, is likely to suffer negative impact on goals as 
in extract 5, golden era of pharmaceutical profits are over. It takes 
billions of dollars to develop one new drug but too little benefit to 
make it on to the market. Brand drug companies in companies are 
likely to experience fall in profits and hence combining impact of 
competition from India, the industry might decline hence impact 
macro goals of US. 

Level 2: Well explained analysis on both India and US 
considering internal and external macroeconomic impact. 
Max 4 for well-explained analysis of macroeconomic impact of 
either India or US or only internal or external macroeconomic 
impact.  

4-6 
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Level 1: Under-developed analysis of macroeconomic impact on 
India and US.  

1-3 

Evaluative Comment: Provide an evaluative comment and 
judgement on the overall impact on India and US economy 

1-2 

(f) The case study highlights various benefits and costs of the 
pharmaceutical industry to society. 

Assess whether regulation through patent is the most appropriate 
form of government intervention in the pharmaceutical industry to 
maximise benefits to society.  

Question approach: This question requires the student to compare 
the different ways governments might intervene in the pharmaceutical 
industry to increase consumer welfare by ensuring competitive 
outcomes, but still ensuring that producers have the incentive and 
ability to innovate. 

Governments intervene in the pharmaceutical industry to achieve 
dynamic, productive and allocative efficiency. Due to the high degree 
of necessity of pharmaceutical drugs in curing some diseases, there 
are also equity issues that governments would like to address. 
Patents is one method that governments can implement to achieve 
these objectives and this can be compared to other policies that 
governments can implement to achieve the two goals of efficiency 
and equity. 

Thesis 1: Regulation through patents is the most appropriate form of 
government intervention as it allows governments to achieve both 
dynamic efficiency. 

Explain how patents allow protection of firm’s supernormal profits 
from innovation and provides incentive and ability to innovate. 

- Patents allow firm which developed the drug to be rewarded 
from monopoly profits of the drug sales during the patent 
period (extract 1) 

- This suggests that demand for the drug will be highly price 
inelastic since no new firms rights to produce and sell the drug 

- Draw monopoly diagram to illustrate supernormal profits 
- The protected supernormal profits provides incentive and 

ability to firms to continue innovation in new drugs  
- Dynamic efficiency is achieved, new drugs can cure and 

extend lives of patients  M and NMSOL can be improved 

Thesis 2: Patents balances effect of monopoly on drugs with 
improved efficiency once patents expires where generic drug 
manufacturers may now enter the market to sell generic versions of 
the drug.  

[10] 

(extract 1) 
uggggegegegegegestststsststs tttht atatatatatatat dddddddemmmmmmananannnnnddddd for ttthhee drdrugug wwililll bebe h
tic sisisisiisis ncncncncncnccce nononooooo nnnnnnneweweweweweww ffffffirririrrmsmsmsmsmsmmsm rrrrriggggggghtttttsss sssssss totooooo pppppppppppprorororororoororor dudududududddddd cec aandnd se
mononononoo opoppopopopo oooloooo y yyy diddddd agrarararararammmmmmm tototoototooo illllllususususususu trtrtrtrtrtrt ate supepernrnorormamall p
prototottecececcccteteteteteteteddddddd susususussupepepepepernrnrnrnnnorororororororrmamamamaaaalllll prpprprpp ooofoo its prprovovididese  inc
to firms to continue innnnn ovation iin new drugs 



Explain how patents with only limited period one expired allow entry 
of generic drugs manufacturers to erode patent protected monopoly 
profits and reduces the associated society’s DWL.  

- Possible to include diagram of fall in AR and gentler slope to 
indicate improved allocated efficiency 

- The introduction of competition will help to improve productive 
efficiency of firms in the industry 

Evaluation: It is difficult to determine the optimal length of the patent 
duration. If the patent expires too quickly, the firm that has developed 
the drug will not be able to reap enough profits to cover the cost of 
drug development. If the patent lasts too long, the firm reaps 
supernormal profits at the cost of consumer welfare. 

Anti-Thesis 1: Price regulation is a more appropriate form of 
government intervention as it allows governments to achieve 
allocative efficiency. 

- Oligopolistic market structure due to high barriers to entry and 
high fixed costs 

- Demand for the pharmaceutical drugs highly price inelastic 
since few available substitutes 

- Draw monopoly diagram to illustrate allocative inefficiency 
- Furthermore, equity issue may result as low income 

households may not be able to afford expensive drug 
treatments 

- Government may introduce AC or MC pricing to increase 
allocative efficiency 

- P=MC, allocative efficiency is achieved 

Anti-Thesis 2: Reducing regulatory barriers to entry in the 
pharmaceutical industry is a more appropriate form of government 
intervention as it allows governments to achieve productive and 
allocative efficiency. 

Explain how regulatory barriers to entry in the pharmaceutical 
industry may deter competition by new entrants. For example, the 
licensing process to get a new drug into the market is highly 
prohibitive (Extract 5: “billions of dollars to develop one new drug 
suitable for testing in humans”) 

- Thus barriers to entry are very high hence, demand is highly 
price inelastic 

- The incumbent firms in this oligopolistic market structure 
charge higher prices compared to the perfect competition 
equilibrium price 

- P > MC  allocative inefficiency 
- Reducing barriers to entry by simplifying the drug development 

process by reducing the time it takes to approve applications, 
making licensing fees cheaper, etc. 
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- Increase no of firms  reduce market share and power  
reduce allocative inefficiency and increase equity (lower 
supernormal profits) 

Evaluation: However, there are other barriers to entry such as brand 
loyalty. This ensures that the barriers to entry in the pharmaceutical 
industry remain high. Furthermore, regulation exists to ensure that 
new drugs meet the necessary safety requirements. Other BTEs also 
include high start-up cost due to sophisticated machines required. 
Thus, governments can only do so much in terms of reducing 
regulatory barriers to entry. Might not improve allocative efficiency 

Conclusion: Patents allow the government to balance the objectives 
of allocative and dynamic efficiency. It is appropriate because it is 
necessary for governments to protect intellectual property rights in 
order to ensure innovation. However, its limitation is in selecting the 
length of patent. Though reducing regulatory barriers may be a good 
strategy in theory, it is not appropriate to the pharmaceutical industry 
because there is a limit to how much the government can reduce 
regulatory barriers. Furthermore, it may be ineffective because the 
pharmaceutical industry already has numerous barriers to entry such 
as high fixed equipment costs or brand loyalty.  

Level 2: Well-developed explanation of how the policies allow the 
government to achieve its goals of efficiency and equity.  

Some credit will be given if students consider the impact of the 
policies on macroeconomic goals.   

4-7 

Level 1: Under-developed explanation of how the policies allow 
the government to achieve its goals of efficiency and equity. 

1-3 

E2: Provide judgement on the appropriateness of the policies 
with respect to the criteria of equity and efficiency. 

2-3 

E1: Evaluation without justification 1 

[Total 30 marks] 



Describe the overall economic performance of the US between 2008 and 2015. [2] 

Suggested Answer: 
Students need to use any 2 of the indicators below to suggest improved economic 
performance.  

- improved BOT  increase in amount of exports to other countries 
- fall in unN  greater utilisation of labour  
- increase real GDP  increase in output produced 
- Inflation rate fell but GPL increase moderately price stability 

Explain how a strong US dollar would affect the economic performance of US in 2015 as 
shown in Table 1.  [2] 
Suggested Answer: 
Appreciation of US dollar  higher price of US’s exports relative to other goods and 
services in the international market  fall in US’s export volume. Lower price of US’s 
imports relative to domestically produced goods  consumers switch away from 
domestically produced goods and services to buy more imports. Overall, net exports fall 

 reduce AD  lower economic growth, lower employment and worsen BOT (assuming 
MLC holds) 

Using demand and supply analysis, explain how the competition for labour is “causing 
inequality to get exacerbated” in wealthy countries.  [4] 
Suggested Answer:  

- DD for high-skilled labour  from D0 to D1. However, the long period of training involved 
in acquiring the specialised skills means that SS of high-skilled workers tends to be 
inelastic in the short run. With an inelastic supply Si, the shortage created by the  in 
demand results in a sharper  in wage (W0 to W1) for the high-skilled workers, ceteris 
paribus. [2] 

- In contrast to high-skilled labour, the SS of low-skilled labour is more elastic – without 
any special training required, quantity supplied of such workers can be changed readily 
in response to changes in wage. Due to relocation of jobs out of wealthy countries, 
demand for low-skilled labour in the country fall from D2 to D3. Wages fall ceteris paribus, 
although by less than proportionate to fall in quantity supplied. [2] 
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The sharp  in wages of the high-skilled workers and the fall in wages of the low-skilled 
workers lead to a widening income gap in many wealthy countries.  

Max 3m – if no use of elasticity of supply 

With the use of a diagram, explain an argument for and against the implementation of a 
minimum wage as mentioned in Extract 7.  [4] 
Suggested Answer: 

Argument For: A government imposes a minimum wage at Wmin to prevent the wage from 
falling too low in order to protect the low-skilled workers’ income. [1] 

Arguments Against: [2] 
- At the minimum wage Wmin, quantity supplied of labour is greater than quantity 

demanded (OQS>OQD), creating a surplus of labour. Thus, unemployment will increase. 
Given that the demand and supply of low skilled labour are both price elastic, it is likely 
that the minimum wage will cause significant number of workers to be unemployed.  

- Less incentive for workers to upgrade skill and knowledge, hence workers will become 
more inefficient in the long run.  

- Increases firms’ unit cost of production assuming labour productivity remains constant 
 lowers profitability of firms 

1 m – correct diagram with explanation 

Discuss the impact of globalisation of labour on various groups of economic agents in 
developing countries. [8] 

Suggested Answer:  

Impact on producers 
(+) increased outsourcing to developing countries  increase scale of production  ability 
to reap internal EOS e.g. technical EOS – cost savings enjoyed raises level of profits, 
ceteris paribus  
(+) transfer of knowledge and better production methods  improve productivity  lower 
unit cost of production  higher profitability  
(+) increased outsourcing  increase demand for firms’ services  increase in TR and 
profits, ceteris paribus  

Impact on consumers  
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(+) movement of low-skilled jobs from developed to developing countries  higher DD for 
low-skilled and hence higher wages of low-skilled in developing countries + higher 
employment  higher household income and purchasing power  higher ability to afford 
more goods and services  higher material SOL 

Impact on government/economy 
(+) increase price competitiveness of exports due to EOS enjoyed by firms  increase 
export volume  increase AD 
(+) higher investments in new production facilities by firms from developed countries  
increase AD + transfer of technology and skills from developed countries  increase 
productivity of labour in developing countries  increase productive capacity  increase 
LRAS.   

 increase in AD and LRAS  increase RNY, employment and material SOL 
(+) Improve poverty and lower income inequality as lower-skilled workers’ income increase 

 govt may spend less on welfare payments to low-income group 

Evaluation 
While globalisation of labour largely benefits the different economic agents in developing 
countries in the short term, they may face potential backlash from developed economies 
in the long term because globalisation of labour has exacerbated the income inequality in 
developed countries by depressing the wages of low-skilled workers. So, if the developed 
countries seek to adopt the protectionist trade policy to block the outsourcing of labour to 
protect their lower-skilled workers, this would reduce the extent of gains for developing 
countries. Hence, developing countries may need to reduce reliance on the outsourcing 
from developed countries.  

L2 Well-developed answer on the impact on 3 different economic agents in 
developing countries. Max 5m for impact on only 2 economic agents.   

4-6 

L1 Undeveloped explanation of the impact on the different economic agents 
in developing countries. Max 3m for impact on only 1 economic agent.  

1-3 

E1 Provide an evaluation on the extent of the impact on the economic agents 
of developing economies that is based on economic reasoning.  

1-2 

Extract 9 mentioned that Singapore has shifted towards inclusive growth.  

Discuss whether US should follow Singapore’s approach towards growth. [10] 

Suggested Answer: 

US is facing slow growth and rising income inequality. It is important to note that there is 
a trade-off between higher econ growth and lower income inequality (Extract 7: “reducing 
income inequality may slice off a little of the GDP growth”): efforts to reduce income 
inequality means less resources are allocated to achieve higher economic growth  
forgoing a higher level of growth that could potentially be achieved.  

Yes, US should focus more on achieving  growth rather than rapid growth  
• US’s income inequality has increased over the years (extract 6)  would slow down
long-term growth further because lower income group suffer from poor health and low 
productivity and cannot invest in education (extract 8) hence slow down rise in AS. 
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• A little more redistribution might improve economic growth (extract 8). Since lower
income group has higher MPC than higher income group, increasing the income of the 
lower income group can achieve higher level of C to spur economic growth. 
• improve income inequality  reduce inequitable distribution of resources

No, US should focus more on generating economic growth rather than lowering income 
inequality 
• US is still experiencing slow growth (extract 6) and unemployment is still rather high
(Table 1)  - there is room for further improvement in economic growth and employment  
• Explain benefits of growth such as higher material SOL that could be enjoyed by the
citizens when their household income increases. Once higher economic growth is 
attained, US can still achieve inclusive growth through progressive income tax and 
redistribution. 
• Anyway, some degree of income inequality is needed to propel growth (extract 8). The
existence of large financial rewards would incentivise people to engage in risky 
entrepreneurship and innovation which could drive greater investments  increase AD 
and AS  achieve higher actual and potential economic growth 

Conclusion/ Evaluation 
- For a developed country such as US, it is difficult to pursue high growth rates - current 
2.6% GDP growth rate is considered satisfactory (while not as good as pre-2008 recession 
period, but at least GDP growth has been improving)  should focus on lowering income 
inequality to achieve more inclusive growth like Singapore 

- While SG is able to provide $8 billion Pioneer Generation Package to help the older 
citizens due to its large amount of reserves, it is more difficult for US to pursue inclusive 
growth due to its large fiscal deficits (Table 1 shows increasing govt debt as a percentage 
of GDP). So, increased spending to support the lower income group through transfer 
payments could add further strain on US govt budget. The tax rate in US is already at a 
higher rate and over-taxing could contribute to severe disincentive to effort.  

- US can achieve higher econ growth and lower income inequality at the same time given 
appropriate govt policies e.g. investment in information and communications technology 
and investments on human capital through education and training  

L2 Well-developed and balanced answer that provided arguments for and 
against US achieving lower income inequality vs higher economic 
growth. There is consideration of the possibility of trade-off between 
lower income inequality and higher economic growth. Answer is well-
contextualised with use of case evidence. 

5-7 

L1 Undeveloped explanation on the arguments for and against achieving 
lower income inequality vs higher economic growth. Answer is not 
contextualised, with little use of case evidence. 

Max 4m for a developed, one-sided answer. 

1-4 

E1 Provide an evaluation on whether US should follow SG’s approach to 
achieve inclusive growth that is based on sound economic reasoning. 

1-3 

[Total: 30]
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This is a rather open ended question because students can select and choose the various 
markets (necessity vs luxury goods markets, markets imposed with GST vs those exempted 
from GST) to discuss the impact of the GST. In discussing the impact, what is certain in the 
question is that GST (an ad valorem tax) would lower the supply of goods, ceteris paribus. 
However, the extent of change in market quantity and price would depend on numerous 
factors. This is where students should make use of relevant concepts such as elasticity, 
differing firms’ action within a market, initial market price of gds/svs etc to examine the impact 
of GST on consumer decision (in terms of Qdd and spending) and producer decision (in terms 
of Qss, how much GTS to absorb). Students can also analyses how decisions may differ 
across different consumers or producers in the same marke.  

Being an open-ended question, markers should not expect every possible outcome to be 
discussed but reward the quality of the response. Students are expected to touch on some of 
the analysis below.  

- Explain that GST is an indirect tax on producer which raise unit COP and thus decrease SS 
(in a pivotal manner since it is an ad valorem tax (% tax) 
- Explain the effects of GST on markets in general (higher market P and lower market Q) due 
to fall in SS, shown by a diagram. 
- Explain what is meant by consumers (how much to buy and how much to spend) and 
producer decisions (how much to produce and how much to price dependent on absorption of 
GST). 

Using a market where DD is price inelastic as example: 

- Assuming ceteris paribus and similar initial market prices of the gds/svs in the 2 markets, 
when SS falls due to GST,  the good with price inelastic demand will result in a more than 
proportionate increase in price and less than proportionate fall in Qdd. (explain in context 
with diagram for diagrammatic analysis) 
- Gave 1-2 brief reasons why DD may be price inelastic. 
- Consumer decision  consume less than proportionately due to price inelastic demand 
given the higher price, consumers will end up spending more on that good.  

- Producer decision  produce less than proportionately since they know that demand is 
price inelastic. However, a GST would result in less revenue earned by the producers and 
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some firms in the market may end up with subnormal profit which may cause some firms to 
close now.   
To examine impact of GST on producer further, we would need to look at the relative 
elasticity of DD and SS to determine who bear greater tax burden. If we assume that DD is 
more price inelastic than SS then producer would bear less tax burden and firms  

- Provide a comparative analysis for the market with price elastic demand. 

- 2 diagrams to shows contrast in terms of new market price, quantity and consumer 
spending for the same SS shift on 2 different PED. Accept parallel shifts in SS as well but 
comment on it.  

Preliminary Evaluation: extent of negative impact on consumers and producers decisions 
depend on the PED,    

- Student can use XED to explain how the higher market price in the good in which GST is 
imposed can affect the DD for the good in which GST is not imposed.  

- Producers in markets in which GST is not imposed can decide to produce more or less 
depending on the XED  

Evaluation: Conclude that the differing (positive or negative) impact is due to cost vs 
benefits of the GST on various markets. Evaluate that the extent of the positive impact on 
the market in which GST is not imposed depend on the closeness of the relationship of 
the good and the type of relationship (complement or substitutes). 

Using luxury market as example: 

- Market with high initial price of gds/svs eg car or other big ticket items, GST would cause 
a much higher rise in absolute price of a more expensive good thus resulting in larger fall in 
Qdd. Impact on consumer spending depends. Converse is true for market with low initial 
price. 
- provide diagrammatic analysis using two diagram  

- GST imposed on a luxury good market would cause a much larger leftward shift in SS, 
causing Qss to fall significantly. The price of the good will increase by a much larger 
absolute amount.  Producer is less likely to absorb the GST since it will result in a huge loss 
of revenue. Producer will produce much less in future.  

- 2 diagrams to shows contrast in terms of new market price, quantity and consumer 
spending with ad valorem tax.  

Evaluation: impact differs across income groups of consumers, producers may face shut-
down especially for luxury markets if the GST resulted in substantial loss of revenue. 
Producers may choose to produce or sell cheaper versions of the same type of goods.  
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Knowledge, Application/Understanding and Analysis 
L3 For an answer that uses appropriate demand, supply and elasticity concepts 

as analysis to explain the impact on decision of both consumers and 
producers. Good use of diagrams to provide an analytic explanation from 
more than one perspective. Student only need to provide 2 approaches.  

15-20 

L2 For an answer that uses demand and supply framework with limited analysis 
to explain the impact on consumers and producers decision. Diagrams are 
not use effectively as analytical tool.  

Max 14 if students only provide 1 form of analytical comparison/approach. 
Max 9 if answer only capture 1 market or only explain impact on consumers 
or producers. 

9-14 

L1 For an answer that shows knowledge of how GST may affect decisions. For 
an answer that consist of huge conceptual errors.  

1-8 

Evaluation 
E3 For an answer that uses analysis to support an evaluative conclusion on 

why different impact on consumer and producer decision may occur 
depending on the extent in which they are affected by the GST, or 
cost/benefits that may occur due to the GST.  

4-5 

E2 For answer that make some attempt at evaluation or conclusion about the 
above. 

2-3 

E1 For an answer that give unsupported evaluative statement 1 

Knowledge, Application/Understanding and Analysis 
L3 For an answer that uses appropriate demand, supply and elasticity concepts 

as analysis to explain the impact on decision of both consumers and 
producers. Good use of diagrams to provide an analytic explanation from 
more than one perspective 

15-21 

L2 For an answer that uses demand and supply framework with limited analysis 
to explain the impact on consumers and producers decision. Diagrams are 
not use effectively as analytical tool.  

10-14 

r thahhahahh t ttt usususususususeseseseseseses aaaaappppppppppprorororoopriaiaaaaaaatetetetetetete dddddddememememememanaananaa d, supupply y anandd elastic
to explain the impact on decision of both con

Applplplplpliciciciciccatatatatatata ioiooioiooioi n/n/n/n/n/n/n UnUnUnUnUnnUnndedededededdersrsrssrssstatatatatatataandndndndndndndn inninnnningggggg ananananaana ddddddddd Analalysysisis



Max 14 if students only provide 1 form of analytical comparison. 
Max 9 if answer only capture 1 market or only explain impact on 
consumers or producers. 

L1 For an answer that shows knowledge of how GST may affect decisions. 
For an answer that consist of huge conceptual errors. 

1-9 

Evaluation 
E2 For an answer that uses appropriate demand, supply and elasticity concepts 

as analysis to explain the impact on decision of both consumers and 
producers. Good use of diagrams to provide an analytic explanation from 
more than one perspective 

3-4 

E1 For an answer that give unsupported evaluative statement 1-2 



A contestable market exists when there are low barriers to entry and exit such that 
new competitors can enter the market. For a perfectly contestable market  entry into 
and exit out is costless.  This means there are no barriers to entry and no barriers to 
exit, such as sunk costs and contractual agreements.  A contestable environment is 
common in most industries, including retail markets, even when there appears to be 
one or more dominant businesses with significant market share. 

The factors to consider in determining contestability of a market include how costless 
entry and exit is, low consumer loyalty and access to technology. 

Costless entry and exit increases the contestability of the market.  Barriers to market 
contestability exists when there are strong barriers to entry and existence of sunk costs 
i.e. cost that have been committed to a business and cannot be recovered once a firm 
chooses to compete. If there is however costless exit condition, it reduces the risks of 
entering a market since firms will not incur significant cost even if they are not 
successful. Potential entrants can operate a ‘hit and run strategy’, which means that 
they can 'hit' the market, given there are no or low barriers to entry, make profits, and 
then 'run', given there are no or low barriers to exit.   

Unlike other industries, like those in manufacturing, the retail market in Singapore is 
less capital-intensive and technology-intensive. For example, the financial resources 
required for the infrastructure, machinery, R&D and advertising in starting up a fashion 
boutique or grocery shop is lower as compared to that required in setting up a firm 
producing manufactured goods as the most significant cost in setting up a retail store 
is likely to be the rental and renovation cost.  In the case where the retailer does not 
need to store their stocks in advance, it can even cut down on inventory cost.  Given 
the low initial capital outlay, the penalty for leaving the market in terms of the foregone 
capital investment is lessen. Hence, entry and exit becomes less costly in the retail 
market, making it more contestable. 

In July 2017, giant e-commerce player, Amazon, launched its Prime Now services 
in Singapore. Prime Now allows Singapore users to place online orders through its 
phone app, for same day delivery on a range of retail items from food to electronic 
to baby products. 

Explain why the retail market in Singapore is contestable.    [10] 

Discuss the extent to which large firms in Singapore’s retail market is better 
able to survive the entry of new competitors such as Prime Now as compared 
to smaller firms.                                                                                                                [15] 
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The retail market in Singapore is characterised by low consumer loyalty. This ensures 
that price becomes determining factor in consumers’ buying decisions. On the other 
hand, if an incumbent has strong consumer loyalty, then it will be difficult for a new 
firm to enter the market as they would have to spend a lot of funds on advertising 
which is a sunk cost.  Even then advertising may not be sufficient to change customer 
loyalty to very strong brands.  

While the level of customer loyalty of consumer loyalty is dependent level of product 
differentiation in the market, it is likely to be lower for retailers compared to firms 
producing a good or service.   Huge advertising and R&D expenditure by 
manufacturers from sportswear to electronic gadgets have the effect of differentiating 
their products and made consumers have become more attached to their brands. 
Hence reducing the value of cross elasticity of demand for their products, making the 
demand for their products less responsive to price reductions from their competitors.  
On the other hand, retailers usually do not incur such large scale expenditure to 
differentiate themselves and their means of differentiation tends to be limited.  Some 
forms of differentiation can include the quality of the service and type or range of 
products they offer for sale.  For example, the firms in the grocery market in Singapore 
are differentiated in different aspects. Some specialise in good quality meat, some on 
the freshness of their daily produce and some provide online deliveries. However, 
given the close substitutability of many of their products, the focus on the pricing of 
their products as a way to compete is quite commonly seen among the supermarkets 
in Singapore, with some even having their own house brands for the purpose of 
providing consumers with more value for their money. 

The retail market in Singapore is a contestable market because there are less 
impediments to potential firms accessing the technology needed in the market.  The 
relatively low cost and ease of availability of such technology means that existing firms 
find it hard prevent potential firms from contesting in the market. Hence, with more 
accessibility to technological advancement that support the development of e-
commerce, potential firms not only find it easier to enter the retail market but also to 
compete with less resources.  As e-commerce retailers, they can cut down on the 
start-up costs even more as compared to traditional brick-and-mortar retailers. 
Furthermore such technology also enable them to reach their target consumer groups 
and promote their products to them much more easily.  In quite a number of cases, 
such technology even allows some smaller firms to sell their products to an 
international market instead of being confined to just the domestic market, boosting 
their revenue further and hence profits further, with little additional cost incurred. 

In recent years, the above factors have allowed a growing number of markets and 
industries to become genuinely contestable and this includes the retail market in 
Singapore.  
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The entry of Amazon’s Prime Now into Singapore is likely to pose a threat to the 
existing retailers due the scale its operation.  One factor that affects the price, output, 
revenue and profitability of the firm is the size of the firms which is usually related to 
the degree of competition, and hence the market structure in which it operates.  But 
other factors, like the ability of the firms to adapt and adopt alternative strategies and 
the nature of the product that the firms sell also impact their susceptibility to such a 
threat.   

Large firms in Singapore’s retail market able to survive the entry of new competitors 
as compared to smaller firms due to the level of profits they are likely to enjoy.  Large 
firms enjoy significant market share and would therefore be in less competitive 
markets which tend to be more oligopolistic in nature.  For example, the grocery market 
in Singapore is dominated by supermarket chains, such as Cold Storage, NTUC 
Fairprice and Sheng Shiong.  As such, each of the supermarket chain has significant 
market power and its demand is more price inelastic.  Due to the certain revenue and 
cost advantages accruing to the firm, in the form of its more established and wider 
network of supply and distribution as well as marketing economies of scale, it is able 
to enjoy greater supernormal profits even in the long run and therefore is able to 
survive the entrance of new competitor in the market. Suppose a supermarket earns 
supernormal profits as illustrated in the figure below. Being profit maximising will mean 
that it produces where MR=MC with equilibrium price and output at OQ and OP 
respectively and supernormal profits earned represented by area PDEF.   With the 
entry of Amazon’s Prime Now, demand for its product falls and becomes more elastic, 
for example from D to D1, and its total revenue will fall to OP1LQ1.  As its TR is able 
to cover its TC, it is still able to enjoy supernormal profits of.  Though profits are lower 
than before, it does not need to exit the industry.  Hence, it can be seen that a large 
firm, is less vulnerable to threat of entry of new competitor as its chances of staying in 
the industry is probably higher. 

.  



Small firms, for example those more commonly found in monopolistic competitive 
markets, might have lesser ability to survive.  Such markets faces greater degree of 
competition and are characterised by the presence of a large number of relatively 
small firms, each selling a differentiated product.  Typically, these features can be 
found among the among the fashion boutiques in Singapore.  Each of this firm is a 
price setter as it has some degree of control over its price and the demand curve is 
downward sloping.   But due to the weaker market power, its demand curve tends to 
be more price elastic.  With low barriers to entry, there is greater freedom of entry and 
exit in the industry and less revenue and cost benefits as compared to large firm, such 
firms might only earn normal profits in the long run. 

With reference to the figure below, a monopolistic competitive firm is seen originally to 
be in equilibrium where MR = MC at output OQe and price OPe, where it is earning 
normal profit as TR = TC = area OPeEQe.  With entry of a new competitor, the firm’s 
demand curve will thus shift to the left (from D1 to D2).   As a result the fall in price to 
OP1 and output to OQ1 at the new equilibrium means that the firm’s revenue is now 
OP1AQ1.  Since the TR is below the TC, the firm is thus making a subnormal profit of 
P1CBA.  In the short run, the condition for the firm to shut down is whether its TR is 
able to cover its TVC.  If TR is be able to cover its TVC and some of its TFC and the 
firm will continue production in the short run.   However, should the demand fall more 
drastically and result in TR being lower than TVC, then the firm will shut down.   

As firms must earn at least normal profit to continue production in the long run and 
firms that cannot make normal profit have to leave the industry.  Hence, smaller firms 
are more vulnerable to closure due to the lower profit margin that these firms are able 
to maintain.  

However, the extent to which the demand of firms are impacted are also dependent 
on the cross elasticity of demand of the products offered by Amazon with respect to 
that of those of these firms.  If the products available in Amazon are close substitutes 
with high XED value, to those of the large firms, then the impact on the large firms’ 
revenue and profits might be significant as well.   
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The impact on existing firm’s demand is also on the range of products that Amazon 
offers as an online retailer as this is could be an important consideration for consumers 
when shopping online.   In the short run, Amazon’s range of 20,000 products in 
comparison to average supermarket has about 50,000 items, means that an existing 
supermarket is likely to have an edge and therefore better able to survive.  In the long 
run, if Amazon broaden their range of products, it is likely to pose a big threat to the 
large supermarket chains’ ability to survive as well. 

On the other hand, the ability of firms to adapt and adopt alternative strategies to 
survive can be important factor to determine firms’ ability to survive.  With greater 
competition, firms will need to develop strategies to prop up their profit margins.   

As Amazon is an e-commerce player, the entry of Amazon is expected to pose a 
greater threat to existing firms using e-commerce platforms. While, the supermarket 
chains and consumer electronics chains such as Harvey Norman and Courts are 
affected, the impact is could be significant for online grocers such as RedMart and 
honestbee too.  At the same time, with the promise of same day delivery, it is clear 
that Amazon is not competing on pricing of products, which is an unsustainable 
strategy in the long run, but rather the quality of the service, in terms of the speed of 
the delivery.  Hence, if smaller firms like RedMart and honestbee are able to provide 
better quality of service, in terms of online shopping experience and delivery, they are 
still able to survive in the market.   

It is anticipated that Amazon’s entry might not have as much impact on retailers in 
malls, as they provide a different shopping experience. In addition, with recent 
changes in the retail market, there are more incentive for retailers to combine online 
and offline shopping experiences. This presents them with an additional channel of 
revenue which will enable them to earn more profits.  Hence, retail firms which are 
able offer a better shopping experience by integrating the online and offline experience 
for the consumers might have advantage and still survive the competition from 
Amazon. 

With changes in taste and preferences, changing lifestyles, the retail market is always 
changing.  Smaller firms are said to be more adaptable to changes in market 
conditions and are able to better response and cater to new demands. This flexibility 
allows small firms to tap on growing demand in certain segments of the market faster 
than large firms.  For example, in response to greater competition, smaller firms that 
try to create an edge by positioning themselves in a niche segment, like organic food, 
might be able earn sufficient revenue and remain profitable. 

While large firms may have sophisticated database, marketing and promotions, small 
retailers are still know their customers individually. This is important for retailers in 
market where personalised attention to service is required.  Hence, by providing 
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personalised recommendations with their offerings, for example, they are better able 
to value-add their service to the consumers as compared to large firms.  This will 
ensure that they are still able to maintain their demand even with the entry of new 
competitor in the market. 

The retail market for some luxury goods may be limited due to the very high price. This 
is true for distinctive products like exclusive clothing and high quality jewellery, where 
only a small group of customers are willing and able to pay for the element of 
uniqueness and prestige.  Despite the relatively small demand, it is sufficient to keep 
these small firms profitable to survive.  However, only a limited number of smaller firms 
will be able to derive the above benefits based on the nature of the demand for their 
products.   

To a large extent, large firms are less vulnerable to threat of entry of new competitor 
due to large profit margin they have initially as compared to small firms firms. However, 
it can also be seen in some cases that the ability of the firms to adapt and adopt 
alternative strategies and the nature of the good that the firms sell are also important 
in affecting their vulnerability to such a threat. Firms that are more flexible in adapting 
are more likely to survive.  With recent changes in retail market, those firms that are 
able to tap on the technological advancement and changing taste and preferences 
more likely to withstand the threat.   
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a) Explain how rational decision-making by consumers and producers results in
efficient resource allocation in a free market. [10]

Due to the problem of scarcity where there are limited resources to meet unlimited 
wants, economic agents have to make decisions on the 3 fundamental questions of 
resource allocation – what and how much to produce, how to produce, and for whom 
to produce. Rational-decision making assumes that consumers and producers make 
choices that maximize their self-interest.  

Rational consumers who aim to maximize their utility make choices on the amount and 
type of goods to purchase based on additional satisfaction derived and additional costs 
incurred from consuming an additional unit of the good. Likewise, rational producers 
aiming to maximize profits make choices among the various methods of production 
based on the additional revenue gained and additional costs incurred from producing 
an additional unit of the good. The pursuit of self-interest by both rational consumers 
and producers addresses the problem of scarcity via the working of price mechanism 
to bring about efficient allocation of resources.  

Rational consumers who pursue self-interest will cast their dollar votes to transmit their 
preferences for the types and quantities of goods and services they prefer. Consumers 
influence producers’ decisions on what to produce based on their demand preferences. 
The amount they are willing and able to pay is determined by the additional satisfaction 
they derived from consuming an additional unit of the good. This is represented by the 
demand curve which is also the marginal private benefit (MPB) curve of the consumers. 
Assuming that there is an absence of externalities, MPB=MSB.  

Producers who seek to maximize profits will receive the price signal from consumers. 
Prices of goods and services preferred by consumers will rise when quantity 
demanded exceeds quantity supplied. Rational producers will respond to this price 
signal by diverting more resources to produce more of those goods and services 
whose prices have risen and hence deemed to be more profitable. Profit-maximizing 
producers will also decide on how to produce by comparing the relative prices of 
factors of production to achieve the lowest cost. Furthermore, rational producers who 
are profit-motivated will only produce goods and services for consumers who are 
willing and able to pay. The amount which producers are willing and able to supply at 
various price levels represents the supply curve. Producers’ decision to supply is 
based on the extra cost incurred in producing an extra unit of the good or service. 
Hence, the producer supply curve is also the marginal private cost (MPC) curve. 
Assuming that there are no externalities, MPC=MSC.  

The intersection of the demand (D=MPB=MSB) and supply (S=MPC=MSC) curves 
leads to an equilibrium price at 0Pe and quantity at 0Qe. At the price of 0Pe, 
consumers decide what and how much to buy and producers decide on what and how 
to produce based on price signal. This is also a situation where MSC=MSB where 
resources are efficiently allocated.  
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For example, a shortage may arise if there is an increase in demand for a good – for 
e.g. through an increase in taste and preference.  At the original price level, 0P1, 
quantity demanded exceeds quantity supplied, resulting in a shortage.  Rational 
consumers and producers will begin to respond to the shortage. Due to the shortage, 
consumers will begin to bid up the price so that they can get the good/service, resulting 
in an upward pressure on prices.  As the price increase, some consumers will not be 
willing or able to pay for it and hence quantity demanded falls. Concurrently, as the 
price rises, producers find it more profitable and will increase their quantity supplied. 
The price will continue to rise until quantity demanded equals quantity supplied. This 
is where equilibrium quantity and price is attained. Assuming that there is no source 
of market failure, for example externalities, consumer and producer surpluses are 
maximised, and so is society’s welfare. 
In conclusion, rational decision making by consumers and producers guide efficient 
resource allocation via the price mechanism which determines what to produce, how 
much to produce, how to produce and for whom to produce. 
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In Singapore, Citizens and Permanent Residents have to pay an entry fee of $100 to 
enter into casinos for 24 hours while in Malaysia, it is free of charge. However, in both 
countries, there is an age limit of 21 years old and above to enter casinos.  

b) Assess why governments may impose different policies in tackling market
failure associated with the same demerit good. [15]

 Consumption of the demerit good is deemed socially undesirable by 
government 

 Generate negative externalities in consumption 
 E.g., in the case of gambling, the external cost is the lower productivity of 

the workforce that is caused by the addiction to gambling. This will result in 
a lower economic growth. There will also be social instability if addiction to 
gambling and bankruptcy rises, resulting in higher crime rates.  the 
existence of MEC creates a divergence between MPC and MSC.

 In their pursuit of self-interest, gamblers consider only their private costs 
and benefits. The market equilibrium level of consumption, Qe occurs at 
the point where consumers, equate their MPB to MPC. MPB is the benefit 
enjoyed by individual from the consumption of an additional unit of gambling 
e.g. the satisfaction of winning. MPC is the cost faced by the individual in 
the consumption of an additional unit of gambling e.g. the bets placed 

 However socially optimal level of output, Qs is determined where 
MSB=MSC. MSB is the benefit enjoyed by the society in the consumption 
of an additional unit of gambling. MSC is the cost incurred by the society in 
the consumption of an additional unit of gambling.

 Qe > Qs  overconsumption of gambling activities  deadweight loss 
incurred by society

 Imperfect information about the benefits and costs derived from the 
consumption of gambling: individuals may have a lower perceived cost of 
gambling than its actual cost  overconsumption of gambling beyond socially 
optimal level

 Thus, when left to the free market, there will be over-consumption of demerit 
goods such as gambling due to imperfect information and the presence of 
negative externalities. Hence, governments may intervene to reduce the 
deadweight loss to increase society’s welfare and improve allocative efficiency 
through different policies such as indirect tax, regulations/legislation and public 
education 

Reason 1: Different perceived extent of negative externalities generated from 
consumption of the same demerit good 
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 E.g. SG government may perceive gambling as a socially undesirable good that 
generates significant amount of MEC from consumption and hence high level 
of overconsumption  need to impose an entry fee of $100 to discourage locals 
from gambling at casinos. The additional monetary cost of entering the casino 
increases the MPC of gambling to MSC, forcing consumers to internalize the 
MEC. Hence, this may reduce the over-consumption of gambling, bringing the 
market equilibrium level of consumption of gambling (Qe) closer to the socially 
optimal level (Qs) and reducing deadweight loss. The higher the perceived level 
of MEC, the higher the entry fee that could be imposed. 

 In contrast, the Malaysian government may perceive the MEC from gambling 
to be insignificant, hence no need to impose an entry fee i.e. allow free entry. 

 If government perceives the level of MEC to be too significant to society, they 
may even consider banning the consumption of the good. 

Reason 2: Different extent of information failure 
 If government thinks that there’s a large degree of information failure resulting 

in larger divergence between perceived MPC and actual MPC, and hence 
greater over-consumption, it may implement various public education 
campaigns to correct the problem of info failure. E.g. campaigns to raise 
awareness of problem gambling with gambling-related advertisement on how 
gambling negatively impacts the family are designed to reduce imperfect 
information. If successful, these campaigns may effectively reduce the 
divergence between perceived MPC and actual MPC (i.e. raise perceived MPC 
to actual MPC) and causing the Qe to move closer to Qs. With a smaller level 
of over-consumption, this would reduce deadweight loss. 

 However, if government thinks that the degree of info failure is low and 
insignificant, they may not carry out or invest less funds on public campaigns. 

Reason 3: Different relative effectiveness/ limitations of policies across countries. 
 The effectiveness of an indirect tax depends on the PED of the demerit good. 

If PED<1, Qd would fall less than proportionate to the increase in price  
indirect tax ineffective. A higher level of tax might be required to reduce the 
consumption to Qs.  

 So, this would mean that the imposition of the entry fee of $100 will likely be 
more effective in deterring Singaporeans who are very responsive to the 
increase in cost of gambling particularly the lower-income group which might 
be the SG govt’s target group as they are less able to cope with the gambling 
losses. 

 Given that gambling is addictive in nature, demand for gambling would tend to 
be price inelastic. As such, while the casino entry fee may increase the cost of 
gambling, it is likely to result only in a less than proportionate fall in quantity 
demanded for gambling. Furthermore, the public campaigns is likely to take a 
long time to educate and change the mind-set of consumers - public education 
is likely to be met with limited success in the short run in dealing with the 
problem of gambling. As such, the government may want to consider a wider 
range of short term policies in order to better deal with the problem of gambling 
such as casino exclusions as a form of regulation - a ban is placed on the 
people who were either recommended by family members or by the gamblers 
themselves; and/or legislation such as imposing the age limit of 21 years old 
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 Depends on whether government can obtain accurate information to estimate 
the PED, MEC, MSB, MSC correctly to determine the optimal amount of tax 
and Qs correctly.  

Reason 4: Different economic priorities of government 
 E.g. Malaysian govt may prioritize economic growth over efficiency through 

increase in C of gambling from casino industry (hence allowing free entry into 
casinos for the locals) whereas SG govt may focus more on achieving 
allocative efficiency in this market – reduce over-consumption of gambling from 
Qe to Qs by imposing an entry fee 

 The degree and type of government intervention in the market for demerit 
goods depend on the extent of external costs generated from consumption of 
the demerit goods and/or extent of information failure which is perceived 
differently by different countries. This in turn depends on the extent of govt 
failure e.g. whether govt can estimate MEC correctly – might be difficult to 
quantify the MEC of gambling in monetary terms given imperfect info of govt 

 The degree and type of intervention will also depend on the costs and benefits 
of the measures adopted in relation to the perceived deadweight loss incurred 
by the society when there’s no govt intervention. 

 Depends on whether government has sufficient funds available to implement 
a range of short-term and long-term policies to reduce the consumption of 
demerit goods more effectively. 

 
L3 For a well-developed answer that thoroughly explains (at 

least 2 reasons) why governments may impose different 
policies (at least 2 policies explained) in tackling market 
failure associated with the same demerit good. (neg ext and 
info failure) 

Answer shows excellent application with the use of 
appropriate examples of demerit goods. 
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L2 For an undeveloped answer that attempts to explain why 
governments may impose different policies in tackling market 
failure associated with the same demerit good. 

Answer shows some application with the use of appropriate 
examples of demerit goods. 

For a well-developed explanation of 1 reason why 
governments may impose different policies (with the policies 
explained) - Max 7m  

Mere explanation of policies without explanation of reasons 
why governments may impose different policies – Max 6m 
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L1 For a descriptive answer of the causes of market failure or 
largely listing of reasons. 

Answer may contain conceptual errors and inaccuracies. 

1 - 4 

E3 Well-reasoned evaluation/ judgments on why governments 
may impose different policies in tackling market failure 
associated with the same demerit good, based on prior 
economic analysis. 

4 – 5 

E2 Largely unexplained judgments. Some attempt at evaluation 
or summative conclusion. 

2 – 3 

E1 An unsupported evaluative statement(s) or judgment(s) that 
lacks explanation. 

1 

 
L3 For a well-developed answer that thoroughly explains (at 

least 2 reasons) why governments may impose different 
policies (at least 2 policies explained) in tackling market 
failure associated with the same demerit good. 

Answer shows excellent application with the use of 
appropriate examples of demerit goods. 

9 – 11 

L2 For an undeveloped answer that attempts to explain why 
governments may impose different policies in tackling 
market failure associated with the same demerit good. 

Answer shows some application with the use of appropriate 
examples of demerit goods. 

For a well-developed explanation of 1 reason why 
governments may impose different policies (with the policies 
explained) - Max 8m 

Mere explanation of policies without explanation of reasons 
why governments may impose different policies – Max 7m 

6 – 8 

L1 For a descriptive answer of the causes of market failure or 
largely listing of reasons. 

Answer may contain conceptual errors and inaccuracies. 

1 – 5 

E2 Well-reasoned evaluation/ judgments on why governments 
may impose different policies in tackling market failure 

2 – 4 

scriptive answer of the causes of market fail
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associated with the same demerit good, based on prior 
economic analysis. 

E1 Largely unexplained judgments. 1 – 2 



Economic performance can be assessed in terms of attaining the macroeconomic 
goals of the country, such as sustained economic growth, low level of unemployment, 
low inflation rate and healthy balance of payment. Economic performance can be 
internal or external, and it can be measured via key economic indicators such as Gross 
Domestic Product (GDP) and unemployment and balance of payments (BOP). 

The first indicator to assess Singapore’s economic performance is the Gross Domestic 
Product (GDP). GDP refers to the value of all final goods and services produced within 
a given country during a given period of time. In order to see how fast Singapore 
economy is growing we look at the real GDP growth rates.  In 2016, Singapore’s real 
GDP as seen by GDP at 2010 prices, grew by 2 percent. The data indicates that the 
GDP figures has taken inflation into account as given by Real GDP growth (%) = 
Nominal GDP growth (%) – Inflation rate (%).  Hence, the positive GDP growth rates 
indicates that the overall output level has increased. As such there is an increase in 
production of goods and services and higher employment opportunities.  However, 
while the positive real GDP growth reflects Singapore experiencing economic growth, 
a 2 per cent increase, shows that Singapore experiencing slow economic growth as it 
could be lower than desired.  While this suggest that Singapore has averted a 
recession, which is a contraction of the economy, such subdued growth rates is 
probably an indication that the economy is facing some economic challenges and that 
firms and consumers might not be too optimistic about spending and the government 
will need to monitor the situation more closely to ensure economy does not slip into a 
recession, which means that the goal of sustained economic growth is not achieved.   

Secondly, inflation rate is also a key economic indicator. Inflation rate is measured by 
the percentage change in Consumer Price Index (CPI).  The goal of a government is 
to maintain price stability, i.e. low inflation rate, in the economy by ensuring there are 
no excessive increase in prices.  A moderate increase in prices is desired as stable 
prices improves economic outlook and it can aid the process of economic decision 
making by firms and households and is thus conducive to economic growth.  Therefore, 
the inflation rate of negative 0.5 per could be a great cause of concern as it is a sign 
that the Singapore economy is not doing well and that deflationary pressures are 

In 2016, Singapore’s GDP at 2010 prices grew by 2 per cent, the unemployment 
rate rose slightly to 2.1 per cent while the inflation rate stood at negative 0.5 per 
cent. The external demand, supported by both merchandise exports and services 
exports, grew at a slower pace of 1.6 per cent. 

Explain how the above economic indicators can be used to assess 
Singapore’s economic performance.                 [10] 

Assess the usefulness of the above economic indicators as measures of 
changes in standard of living in Singapore.                                        [15] 
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present.  The Singapore government is keen to prevent deflation from taking root in 
the economy as it can have undesirable spillover effects on an economy. For example, 
if the price of goods and services is consistently dropping, consumers would probably 
delay purchasing these items until the price was as low as possible. Delayed spending 
results in fewer sales and less revenue for businesses, which in turn reduces the 
demand for labour and thereby increases unemployment.  This can weaken the 
Singapore economy even further, leading to a fall in economic growth. 

While the primary indicator used is the real GDP growth rates, the level of 
unemployment is an important indicator for economists to assess economic 
performance as the level of unemployment indicates whether the economy is fully 
utilising her resources.  At 2.1 per cent, Singapore’s unemployment rate is relatively 
low in comparison to other countries. This suggests that Singapore is probably not 
experiencing high cyclical unemployment that usually occurs with a recession, which 
Singapore is not experiencing, as seen by the real GDP growth rates.  However, this 
needs to be compared to Singapore’s general unemployment trends.  In this regard, 
this figure is an increase from the previous figures which tends to be below 2 per cent. 
This probably is an indication of rising structural unemployment as the Singapore 
economy is currently undergoing major restructuring as it shifts to more knowledge-
based and technology-intensive types of production.  Therefore this figure, besides 
indicating that the economy is can do more in utilising its resources fully, might also 
provide further insights to the nature of unemployment the Singapore economy is 
facing when compared to its long term trend, which will aid the government in 
developing policies to address the root problems of unemployment more specifically.  

Lastly, while BOP is not given the Singapore government can use the data on 
merchandise exports and services exports to assess the external performance of the 
Singapore economy, especially in terms of export competitiveness.  As merchandise 
exports and services exports grew at a slower pace of 1.6 per cent, it indicates that 
externally Singapore may not be performing well as export demand is not growing 
sufficiently.  As Singapore’s economy is driven by external demand, a slowdown in 
export growth will have serious implications on its economic growth and employment 
and weaken its exchange rate, which can have other undesirable consequences on a 
small and open economy like Singapore, particularly in terms of imported inflation.  
Hence, this data will inform the government of the need to have measures to boost the 
demand for exports and strengthen the Singapore dollar.  

In conclusion, while Singapore’s real GDP growth suggests that the economy is still 
growing, the slow pace of growth, with further support from the other indicators 
suggests that Singapore’s economy might not be performing well.  Therefore, there is 
a need for the government to be more active in managing the economy to improve its 
economic performance. 
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Level Descriptor Marks 
L3 Clear explanation, using economic analysis, of how 3 of the 

indicators can be used to assess economic performance in the 
context of Singapore.   

Only internal performance indicators – max 8 

8- 10 

L2 Some explanation of how the indicators can be used to assess 
economic performance in context of Singapore. . 

Or  

Well-developed explanation of 2 indicators. 

5- 7 

L1 Some knowledge of the use of the indicators. Little reference to 
context and little explanation. 

1- 4 

Level Descriptor Marks 
L3 Clear explanation, using economic analysis, of how 3 of the 

indicators can be used to assess economic performance in the 
context of Singapore.   

Well-developed explanation of 2 indicators  - max 7 

7- 10 

L2 Some explanation of how the indicators can be used to assess 
economic performance in context of Singapore. . 

5- 6 

L1 Some knowledge of the use of the indicators. Little reference to 
context and little explanation. 

1- 4 



Standard of living refers to the level of economic and social well-being, or the average 
quality of life of a population which includes the material and non-material aspects of 
life where  include the quantity and quality of goods and services 
available for consumption.  include the environment which one 
lives (e.g. number of working hours, leisure hours, quality of physical environment, life 
expectancy etc.) 

The data given in the preamble is useful to measure changes in SOL in Singapore in 
the following ways: 

(i)  Real GDP growth 
 Changes in real GDP is useful in showing changes in material SOL in Singapore. 

For example, real GDP growth as by growth of GDP at 2010 prices which is 2 per 
cent, can provide some indication that there is an increase in material SOL in 
Singapore in this case.  As real GDP refers to the total value of final goods and 
services produced within a country with effects of inflation eliminated, an increase 
in the real GDP figure reflects increase in the quantity of goods and services 
produced.  This implies an increase in the quantity of goods and services available 
for consumption for the households and hence higher material SOL in Singapore.  
(Note that since real GDP growth rate is provided, inflation rate is not needed for 
the assessment of changes in SOL) 

 The higher level of real GDP also indicates higher income and purchasing power 
which will allow the households in Singapore to have greater ability to access 
quality healthcare services and education hence an increase in non-material SOL.  

(ii)  Unemployment rate 
 The fairly low unemployment rate, which has been constant at around 2 per cent 

indicates that most in the Singapore labour force are able to get a job which then 
enables them to earn an income.  This means that the Singapore government is 
able to continue its collection of tax revenue. This can be used by the Singapore 
government to spend on developmental projects like building a more reliable and 
efficient rail network. This leads to a higher non-material SOL as individuals do not 
need to endure the hassle and stress of travelling in congested roads and have 
greater assurance that they can get to their destinations on time.  Additionally, the 
relative ease in getting jobs may also mean the stress from being unemployed is 
greatly reduced, leading to a rise in non-material well-being of the average person. 

 However, rising unemployment rate would mean that those that more workers in 
the labour force are out of a job and this can mean a loss of income for these 
individuals.  As a result, standard of living for this group of workers could have 
fallen instead. 
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However, the usefulness of the above indicators in measuring changes in SOL in 
Singapore may be limited due to the following reasons:  

(Focus on need to take into account population changes and at least one other 
limitation) 

Real GDP growth rates does not take into account population changes    
The use of total (also known as ‘gross’) GDP does not give one much insight into living 
standards in a country.  Over longer time periods, the use of gross GDP to measure 
economic growth or living standards over time also becomes less meaningful given 
that population changes are likely to happen.  An increase in gross GDP could be due 
to each worker producing more (and hence generating more income), or by the 
economy having more workers due to population growth.  A better indicator to assess 
changes in material SOL is real GDP per capita.  This indicator is obtained through 
dividing real GDP by the population size. .  Given that Singapore has a low population 
growth rate that is consistently below 2 per cent, then real GDP per capita has 
increased and it indicates that there is an increase in the average income, implying n 
increase in the material SOL of the average Singaporean.    

Inaccuracies in calculation of GDP 
One possible reason why the usefulness of real GDP per capita is limited is 
inaccuracies that can arise from calculating GDP. When an activity takes place in the 
hidden economy/informal economy, wages are being paid to those working and hence 
they may enjoy a reasonably high material standard of living, which is not accounted 
for in GDP statistics.  The size of the hidden economy may change over time.  For 
example, it may change due to changes in enforcement of income tax reporting, (for 
example on part time taxi drivers or tuition teachers), or growth in informal sectors 
attracting workers.  In this case, the actual GDP figures would understate the material 
SOL as those in the informal sector would be earning wages, enabling them to 
purchase goods and services.   

Composition of not taken into account 
As the increase in exports of goods and services in Singapore, as seen from the 
preamble, has also contributed to an increase in real GDP it might not be 
accurately reflect an increase in SOL.   Without a corresponding increase in 
consumption, living standards might not increasing as consumption gives citizens’ 
satisfaction and not exports which would increase the satisfaction level of 
someone elsewhere who is purchasing the good, i.e. a foreigner.  

Changes in income distribution is not taken into account 
Other than real GDP per capita, there is a need to use other indicators like the Gini 
coefficient to measure income distribution. This is because if the higher output 
produced could be consumed only by a minority group with the means to afford the 
goods, then the average person in the country is not necessarily better off and there 
might not be a rise in an average Singaporean’s material SOL. Hence the Gini 
coefficient helps to assess if there is equity (in terms of fairness and ease of access 
to goods and services) in the distribution of the increased output. A rise in the Gini 
coefficient value reflects rising income inequality in Singapore and is likely to reflect 
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that the SOL for the average person might not have increased.  Hence, changes in 
real GDP per capita has be complemented by Gini coefficient data to provide more 
accurate assessment of how SOL has changed in Singapore.  

(Note: limitations of employment rate can also be accepted) 

Qualitative aspect of SOL not fully captured 
The qualitative aspect of SOL cannot be captured by output or income figures as the 
average person’s well-being is not determined solely by the quantity of goods and 
services he can consume. Thus there is a need to look at qualitative indicators like the 
number of leisure hours the average person enjoys, personal freedom, access to 
education and health care etc. The qualitative aspect of life will rise if the average 
individual enjoys better work-life balance, and is able to find time pursue his interests. 
Likewise, the increased accessibility to healthcare services like health check-ups, 
vaccinations will also lead to higher non-material SOL of the average person as he 
becomes healthier.  

 
Of all the indicators, real GDP growth rates is the most useful indicator and is useful 
to some extent in measuring changes in standard of living in Singapore, especially 
that of material aspect. However, a better indicator which be changes in real GDP per 
capita.  However its usefulness can be limited due to the other limitations mentioned 
above. It is not sufficient and needs to be complemented with an indicator to measure 
income distribution like the Gini coefficient and other qualitative indicators such as 
hours worked, crime rates, life expectancy, healthcare, to capture changes in non-
material SOL. 



 

A well-developed analysis, supported with the good use of examples, 
of the usefulness and limitations of the indicators in measuring SOL in 
Singapore.       

An underdeveloped, descriptive explanation of the usefulness and 
limitations of the indicators in measuring SOL in Singapore.   

One-sided answer – Max 7  
Without the use of examples – max 6 

For an answer shows some basic knowledge of the usefulness or 
limitations of the indicators. 

An insightful evaluation that uses analysis to support a judgement on 
usefulness of the indicators in measuring SOL in Singapore. 

Some attempt at evaluation or conclusion about usefulness of 
indicators in measuring SOL in Singapore. 
For an answer that gives unsupported evaluative statement(s). 

 

A well-developed analysis, supported with the good use of examples, 
of the usefulness and limitations of the indicators in measuring SOL in 
Singapore.       

An underdeveloped, descriptive explanation of the usefulness and 
limitations of the indicators in measuring SOL in Singapore.   

One-sided answer – Max 7  
Without the use of examples – max 6 

For an answer shows some basic knowledge of the usefulness or 
limitations of the indicators. 

An insightful evaluation that uses analysis to support a judgement on 
usefulness of the indicators in measuring SOL in Singapore. 

For an answer that gives unsupported evaluative statement(s). 

he indicators. 
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Q5) Assess the relative effectiveness of demand-side and supply-side policies 
in achieving macroeconomic objectives in Singapore. 
[25] 

Briefly explain the macroeconomic objectives of the Singapore government 

Like all governments, the Singapore government aims to achieve the 4 
macroeconomic objectives. In particular, due to the small and open nature of 
the Singapore economy, Singapore aims to achieve healthy BOP has it 
indicates that the Singapore economy is competitive and attractive in the 
international market with good exports revenue and FDI inflow. This then has 
implication on positive economic growth and low cyclical unemployment in 
Singapore. In addition, being import reliant, Singapore is vulnerable to imported 
inflation and this affects real purchasing power and SOL. Lastly, rising structural 
unemployment due to structural changes in economy, an important cause of 
rising income inequality is also a concern of the government. This essay seeks 
to assess the relative effectiveness of demand-side and supply-side policies in 
achieving these macroeconomic objectives in Singapore. 

To achieve sustained economic growth and to keep cyclical unemployment low, 
the Singapore government adopts both the demand and supply side policies. 
The relative effectiveness between the 2 policy approaches depends on the 
objective and intention of the policies. 

During short term economic recession such as that of the global financial crisis 
in 2009 where negative economic growth resulted due to a fall in AD, demand 
management policies such as depreciation of the Singapore dollar was 
effectively adopted to achieve the goal of sustained economic growth. The 
Singapore government allowed a gradual modest depreciation of the Singapore 
dollar. With a fall in price of Singapore’s exports in terms of foreign currency, 
volume of Singapore’s exports increases. Hence, export revenue increases. On 
the other hand, price of imports in terms of SGD rises. With demand for M being 
price inelastic in Singapore, M expenditure rises. However, as marshall lerner 
condition holds in the long run, this leads to improvement in Singapore’s (X-M). 
Hence AD improves. With reference to figure 1 below, AD increases from AD0 
to AD1. Real national income increases from Y0 to Y1. The rise in production 
increases hiring of workers and reduces cyclical unemployment. This combats 

The question tests on the array of demand-side and supply-side policies 
that the Singapore government adopts to achieve her macroeconomic 
objectives. The words ‘relative effectiveness’ suggests the need to compare 
among the policies and argue why base on certain criteria these policies 
are deemed to be more effective. Some criteria include type of 
macroeconomic objectives and policy objectives, nature of Singapore’s 
economy, limitations of policies etc.  
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the fall in AD due to the fall in demand from Singapore major trading partners 
due to the recession.  

The exchange rate policy of depreciation is effective for Singapore during the 
recession due to Singapore’s economy being export oriented and reliant on 
trade performance for growth. Depreciation targets net exports which has high 
influence on AD and hence is effective in raising AD.  

However, marshall-lerner condition might not hold in the short run due to 
contractual agreements and inability to change taste and preferences. Hence 
the policy might worsen trade balance in the very short run instead worsening 
the recession. Also, Singapore’s trading partners may also engage in relative 
depreciation to avoid impact on net exports during recession. This further 
undermines the effectiveness of Singapore’s depreciation to improve net 
exports as the price effect is offset. Also, depreciation might also be adopted 
by other affected countries in the recession. With relative depreciation, 
Singapore might not gain a price advantage in exports over her major trading 
partners. Hence, rendering exchange policy less effective. 

To complement exchange rate policy, the Singapore government adopts 
expansionary FP to boost AD to promote actual economic growth and reduces 
cyclical unemployment. For example, the Singapore government brought 
forward HDB upgrading projects and construction of MRT lines to increase G 
and increases AD further from AD1 to AD2 to raise RNY to Y2. While EFP is 
effective in raising AD through G, effects are usually restricted to specific 
sectors such as construction industry due to the boost in G on construction of 
infrastructure in the country. It is also limited by feasibility of government 
projects to be brought forward.  

The combination of exchange rate policy and EFP has their merits and flaws. 
In addition to the limitations mentioned above, Singapore cannot depend on 
depreciation of the SGD to improve AD for an extended period of time for it 
might invite imported inflation to the country. In fact, during risk of imported 
inflation, the Singapore government might adopt gradual modest appreciation 
stance of SGD to control prices of imported FOP and final goods into the 
Singapore economy. This effectively increases SRAS and reduces GPL in the 
country. Hence, due to the conflict between the goals, a fine balance must be 
achieved in the control of SGD to balance among achieving all goals of the 
government.  Both EMP and EFP are short term policies effective only to 
influence AD. In the long run, supply side policies are more effective in 
improving competitiveness of Singapore’s exports to improve trade balance 
and achieve macroeconomic objectives of healthy BOP, potential economic 
growth and lower inflation in the long run. 

The Singapore government invests heavily in firms to adopt better technological 
production methods to improve productivity and efficiency. An example would 
be the Productivity and Innovation Credit where the government subsidies 60% 
or allowed 400% tax deductions on technological investments by firms that 
improve productivity. This translates to higher productivity of the economy and 
results in rightward shift of the LRAS from AS0 to AS1 as shown in Figure 1 
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above. Higher economic growth is achieved from Y1 to Y2 with lower inflation 
from P1 to P2. At the same time, the improved productivity could translate to 
better quality of exports which increases export demand and improves current 
account.  

Adopting new technology by firms involve high costs as new machines must be 
bought and workers must be trained to make use of these new technology. 
Firms might experience rise in unit COP in the short run instead. Hence, instead 
of improving price competitiveness and quality of exports, prices of exports 
might rise instead. Supply side policy is hence only effective in the long run to 
improve BOP and achieve potential economic growth.  

Lastly, with continued globalization and structural changes to the Singapore 
economy, jobs in some declining industries are lost while new jobs are created. 
Workers become structurally unemployed as they lack the skills to take up the 
new jobs. The most effective policy to resolve structural unemployment and 
help the Singapore government in achieving the goal of low unemployment is 
supply side policy of retraining workers so they may learn and match their new 
learned skills to the jobs. The Skill future programme where subsidies are 
provided by the government to encourage retraining was adopted as a national 
movement to provide Singaporeans with the opportunities to develop their 
fullest potential throughout life, regardless of their starting points.  

Effectiveness of the retraining programmes depends on adaptability of workers. 
The older workers are likely to be more resistant to learning new skills and 
hence less successful in benefitting from the programme. They then may not 
find new jobs. The programme also incurs high budget on the government 
which may potentially compete funding with other programmes in the country, 
incurring high opportunity cost. 

Demand side policies aim to influence AD while supply side policies on AS. 
With different intentions, they aim to achieve different macroeconomic 
objectives. Hence, its effectiveness on goals depends on its use in the first 
place.  

In the short run, the nature of Singapore’s economy has made demand side 
policy such as exchange rate policy an effective tool to achieve most of the 
macroeconomic goals of the government as it may achieve healthy BOP, 
sustained economic growth, low cyclical unemployment and prevent imported 
inflation. EFP in addition to exchange rate policy contributes to boosting of AD 
and prevent job losses during recession. Effectiveness of these demand 
management policies are however, affected by the extent of their limitations in 
achieving the goals. For example, severity and sources of recession as well as 
reaction of major trading partners. 

Supply side policy on the other hand are targeted for long run effects such as 
improving BOP and structural unemployment. It is less effective in the short run 
but irreplaceable as the only tool to achieve these goals. Effectiveness also 
depends on cooperation of firms and workers in adopting the initiatives. 
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- For a well-developed answer that thoroughly explains an 
array of demand-side and supply-side policies in achieving 
various macroeconomic objectives in the context of Singapore. 

- Answer shows excellent application to the Singapore 
economy i.e. in different context, for different macroeconomic 
objectives and limitations of policies. 

- Answer is well-structured to reflect excellent organization of 
ideas. 

- For a well-developed answer that clearly explains an array of 
demand-side and supply-side policies in achieving various 
macroeconomic objectives in the context of Singapore.  

- Answer shows good application to the Singapore economy 
i.e. in different context, for different macroeconomic objectives 
and limitations of policies. 

- Answer is reasonably well-structured to reflect good 
organization of ideas. 

Max 15m for 3 reasonably developed demand and supply side 
policies in achieving at least 2 macroeconomic objectives in 
Singapore.  

- For an under-developed answer that explain an array of 
demand-side and supply-side policies in achieving various 
macroeconomic objectives in the context of Singapore. 
- Answer may contain some theoretical mistakes and are 
somewhat applied to the Singapore economy 
- Answer is somewhat structured to reflect some organization 
of ideas. 

- For an undeveloped answer that makes an attempt to explain 
at least 2 demand-side and supply-side policies in achieving 
various macroeconomic objectives in the context of Singapore. 
- Answer contains policies that are relevant but insufficiently 
explained and poorly applied to the context of Singapore. 
- Answer is poorly structured and reflect poor organisation of 
ideas. 
Max 9m for only 1 well-developed policy.  
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- For an answer that makes an attempt to explain some policies 
to achieve macroeconomic objectives.  

- Answer is somewhat irrelevant and contains basic errors in 
economic theories or are inadequately explained which 
demonstrates only some basic understanding of economic 
concepts. 

-Answer may not be applied to the Singapore economy.  

- For an answer that is largely irrelevant and contains 
conceptual errors. 
- Answer has few valid points and demonstrates poor 
knowledge of relevant and basic economic theories. 

E3 Value judgments made with strong economic justifications 
which reflects considerations of assumptions and synthesis of 
analysis of relative effectiveness of policies between demand 
and supply side policies in achieving macroeconomic 
objectives. 

4-5 

E2 Some attempts to make value judgments with some economic 
justification on relative effectiveness of policies between 
demand and supply side policies in achieving macroeconomic 
objectives. 

2-3 

E1 An attempt to make a value judgment without justification. 1 

L3 For a well-developed answer that explains an array of demand-side 
and supply-side policies in achieving various macroeconomic 
objectives in the context of Singapore.  

 Answer shows excellent application to the context of Singapore 

Max 15m for 3 reasonably developed demand and supply side 
policies in achieving at least 2 macroeconomic objectives in 
Singapore. 

15 – 21 

L2 For an undeveloped answer that an array of demand-side and 
supply-side policies in achieving various macroeconomic objectives 
in the context of Singapore.  
 Answer shows some good application to the context of 

Singapore 

Max 9m for only 1 well-developed policy 
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L1  For an answer which is largely irrelevant or contains inaccurate 
content. 

 For answer which is largely descriptive. 

1 – 9 

E2  For a judgement that is based on economic analysis on relative 
effectiveness of policies between demand and supply side policies 
in achieving macroeconomic objectives. 

3 – 4 

E1  For a judgement made without evaluation or economic analysis.  1 – 2 



Introduction: Define globalisation and briefly describe the main factors that led to 
globalisation 

Globalisation is the increased integration and interdependence of economies. It can be 
categorised as ; the greater integration of goods and services 
(via trade), labour and capital markets and ; the reduction 
in travel times between locations and the rapid (electronic) exchange of information. 
Knowledge and production previously confined to certain geographical areas may now 
cross borders and be made available because of the communication and transport 
technological innovations. 

Body 1: Explain how trade liberalisation led to increase trade flows based on the theory 
of CA. 

One main factor that facilitates globalisation is
The theory of 

comparative advantage posits that economies can mutually benefit from specialisation 
and exchange of goods they have a lower opportunity cost in producing. For example, 
between Thailand and Singapore, Thailand’s vast amount of arable land and large 
number of rice farmers meant that it has resources that are more suited for the 
cultivation of rice over Singapore. In the cultivation of rice, Thailand has a 

 as compared to Singapore as Singapore does not have the similar 
factor endowments that are suitable for rice cultivation. On the other hand, Singapore 
would have a lower opportunity cost in the production and manufacturing of electronic 
goods because of its skillful labour force and level of technological adoption. If Thailand 
devotes its resources to the cultivation of rice and Singapore devotes its resource to 
the production of electronic goods, both countries would be more efficient in their 
production.  that is, Thailand to export rice and import 
electronic goods, while Singapore would import rice and export electronic goods,

and

. 

The greater amount as well as variety of goods available for consumption among other 
potential gains from free trade have led to increasing liberalisation of trade and capital 
markets, facilitated by governments moving towards policies such as Free Trade 
Agreements (FTAs) to reduce trade barriers(removing import tariff and quotas). These 
led to greater economic integration amongst economies and the trend of globalisation. 

Body 2: Explain how development in communication technology has led to increased 
intergration  

Globalisation has brought about greater exchanges of goods and services, capital 
and labour between countries. Some countries embraced it while other resisted it. 

Explain the reasons for increasing globalisation.        [10] 
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The revolutionary break-through in information and communication technology (ICT) 
and development in transport technology have also provided the drive for global 
integration by facilitating trade.  

 has facilitated the transmission of 
information over geographical borders quickly and efficiently. This allows transnational 
firms to coordinate their operations worldwide via different avenues such as video 
conferences & emails. The implication is that firms such as Toyota and Apple Inc. are 

 to improve their 
productivity and efficiency. These firms are also able to outsource part of the 
production process yet maintain control over them with the ease of communication. 
This “ ” results in increased flow of intermediate goods as 
well as capital amongst the economies leading to higher degree of globalisation. 

Body 3: Explain how development in transport technology has led to increase 
intergration 

Last but not least,  have caused transportation 
cost and time for goods and people to shrink tremendously increasing mobility of goods 
and factors of production. These have enhance economies trade network and aid in the 
increase in trade volume. For example, sea transport has become more efficient with 
new technology such as (automated cargo handling and faster vessels). Better 
navigation system also enhanced the safety and efficiency of sea transport. The 
reduction in time for sea transport and cargo handling has helped to transport goods 
and documents for firms faster. 

Conclusion: Summarise Salient Points 
Not only has these technology enhance the benefits of trade, they are essential 
enablers of trade, without which, there would not be as much integration amongst world 
economies. 

Syllabus 9757 

L3 

For a well-developed answer that clearly explains factors 
which led to increasing integration amongst economies 
based on economic reasonings (E.g. Comparative 
Advantage) 

Answers are well-supported with appropriate examples. 

8 – 10 

L2 

For an undeveloped answer that attempts to explain factors 
which led to increasing integration amongst economies. 

Answers are descriptive and lacks economic reasonings. 

Answers are supported with some example. 

5 – 7 

L1 For an answer that is irrelevant and contains conceptual 
error. 1 - 4 
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Syllabus 9732 

L3 

For a well-developed answer that clearly explains factors 
which led to increasing integration amongst economies 
based on economic reasonings (E.g. Comparative 
Advantage) 

Answers are well-supported with appropriate examples. 

7 – 10 

L2 

For an undeveloped answer that attempts to explain factors 
which led to increasing integration amongst economies. 

Answers are descriptive and lacks economic reasonings. 

Answers are supported with some example. 

5 – 6 

L1 For an answer that is irrelevant and contains conceptual 
error. 1 - 4 
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Introduction: Briefly describe the differing impacts of globalisation on countries and 
hence their differing stance towards globalisation. 

Globalisation is a double-edge sword. While some countries have ride on the wave of 
globalisation and benefited, others have to bear associated costs of being more open 
to economic integration. Impacts of globalisation differ according to an economy’s 
nature, stage of development as well as limitations of existing governing policies. 
Countries therefore response differently to globalisation; while some embrace 
globalisation, others turn protectionistic.  

Body 1&2: Explain the differing impacts of globalisation and hence their differing 
responses to globalisation. 

As mentioned in (a), globalisation has led to the increased flow of goods and services, 
factors of production and technology. This can bring about benefits such as increased 
economic growth, employment, and improvement in balance of payment position. 

- Explain using AD-AS framework various impacts of increased trade, capital and 
labour flows. 
E.g., The rise of East Asian economies is often attributed to globalisation and 
enhanced regional economic integration. 

Increase in flow of goods and services and capital can increase the export volume and 
investment inflow of economies. The availability of more choices of goods and services 
from abroad would increase the demand of exports and hence export revenue of 
economies. This contributes to the aggregate demand and hence national output. 
Labour demand increases as firms step up production to match the increased in 
demand, hence reducing cyclical unemployment. 

These positive impacts on economies meant that economies will response differently. 

However, it can also bring about increase unemployment and worsening of balance-of-
payment position. 
- Explain possible negative impacts of greater trade, labour and capital flows. 

Evaluate why different countries may have different responses towards globalisation. 
[15] 

The question requires students to first consider the  of globalisation on different 
countries before making value judgments on the  these countries have 
towards globalisation. The impacts generally refers to the . 
Students can also consider other relevant reasons beyond cost and benefits. While these impacts 
must be linked to various economic objectives, the link between the impacts and hence responses 
must be clearly established. Responses to globalisation refer to policies to promote or impede 
globalisation. Last but not least, evaluative comments to justify the responses must be provided. 
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Body 3: Evaluate the differing impacts of globalisation on small and open economy vs. 
large and less open economy and hence differing responses to globalisation. 

Consider: Small & Open vs. Large and Less Open economies
Small economies can better benefit from globalisation as they stay open and gain 
access to bigger markets. E.g. Singapore. Reliant on trade for growth. On the other 
hand, large and less open economy such as USA may respond differently to 
globalisation as they have a large domestic market; they can hence rely less on 
external market. While Singapore need to stay open to trade and globalisation, USA 
has been turning protectionistic in recent years. 
Policy responses to globalisation would differ between the two countries. While 
Singapore seeks to sign more Free Trade Agreements (FTAs) (the most recent being 
the EUSFTA), the US has pulled out from the monumental Trans-Pacific Partnership 
(TPP). 

Evaluation: Yet, both are facing rising income inequality, partly attributed to increased 
globalisation as well. 

Body 4: Evaluate the differing impacts of globalisation on developed and developing 
economies hence differing responses to globalisation. 

Consider: Developed vs. Developing economies
Developing economies are more likely to benefit from globalisation especially with the 
increased capital flow and technological transfer, hence they are more likely to respond 
to globalisation positively. This enables developing economies to move up the differing 
stages of development. With greater economic growth and development, it can raise 
output, income and hence raise standard of living as more people are pull out of 
poverty. 

 Yet, even as developing countries open up their markets, there has been 
widespread criticism about developed economies ability to implement and adhere to 
negotiated trade obligations. Developed economies have been criticized for having 

 which limits the benefits of globalisation that developing 
economies can benefit from. Protectionist policies in industrialised countries prevent 
many producers in the Third World countries from accessing export markets. Also, 
developed economies also give subsidies to domestic producers while imposing high 
tariffs on foreign imports in order to undermine the foreign competitors from developing 
economies. This suggests that even different developing countries may choose to 
respond differently to globalisation because of the potential negative impacts. For 
example, in response to these unfair trade practices, economies may retaliate by rising 
trade barriers as well.   

 Critics of economic integration often point to Latin America as an example 
where increased openness to international trade had a negative economic effect. Many 
governments in Latin America (e.g. Peru) liberalised imports far more rapidly than in 
other regions. In much of Latin America, import liberalisation has been credited with 
increasing the number of people living below the USD $1 a day poverty line) 
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 Also, even if developing economies may benefit on the economic front, 
competition among developing countries to attract foreign investment leads to a "race 
to the bottom" in which countries dangerously lower environmental standards. This is 
because of the poor legislation to protect the environmental and weak enforcement of 
environmental regulations that developing economies may have. This attracts firms in 
developed economies to offshore their businesses to these developing economies, 
which results in greater environmental degradation in developing economies. This 
causes negative externalities and results in sub-optimal resource allocation. 

 While some developing economies government have already begin 
implementing policies to prevent developed economies from exploiting them, some 
other developing economies are still likely to prioritise economic growth over other 
potential trade-offs such as environmental preservation and resource allocation 
efficiency because of the potential rise in material standard of living. As such, their 
response to globalisation would likely to differ not only from developed economies, but 
also from other developing economies which while also value economic growth, are 
also looking concern about environmental degradation and rising income inequality. 

Body 5: Explain the constraints government may face in policy implementation in 
response to globalisation which results in differing response. 

Even if economies face the same impacts of globalisation, responses may also differ 
because of policy limitations that government of different economies faces (Budget 
constraints and existing economic conditions). 

Explain how policy measures in response to globalisation (to mitigate negative impacts 
of globalisation) may differ because of certain limitations. 
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Syllabus 9757 

L3 

For a well-developed and balanced answer which clearly explains 
the differeing responses of different countries based on differing 
impacts of globalisation on different countries. 

Answer is well applied to different context and supported with 
appropriate examples. 

8 – 10 

L2 

For an undeveloped answer which attempts to explains the 
differing responses of different countries based on differing impacts 
of globalisation on different countries. 

Answer is descriptive and not well applied to different contexts 
and/or supported by appropriate examples. 

Max 5 – For generic regurgitation of impacts of globalisation. 

5 – 7 

L1 For an answer that is largely irrelevant and may contain conceptual 
errors. 1 - 4 

E3 

For value judgements made with sound economic justifications. 

Justifications are appropriate and relates to prior analysis. 4 – 5 

E2 

For value judgements made with some economic justifications. 

Justifications made are not appropriately related to prior analysis. 2 - 3 

E1 Judgements made incidentally. 1 

Syllabus 9732 

L3 

For a well-developed and balanced answer which clearly 
explains the differeing responses of different countries 
based on differing impacts of globalisation on different 
countries. 

Answer is well applied to different context and supported 
with appropriate examples. 

9 – 11 

L2 

For an undeveloped answer which attempts to explains the 
differing responses of different countries based on differing 
impacts of globalisation on different countries. 

Answer is descriptive and not well applied to different 
contexts and/or supported by appropriate examples. 

6 – 8 
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Max 6 – For generic regurgitation of impacts of 
globalisation. 

L1 For an answer that is largely irrelevant and may contain 
conceptual errors. 1 - 5 

E2 

For value judgements made with sound economic 
justifications. 

Justifications are appropriate and relates to prior analysis. 
3 - 4 

E1 

For value judgements made with some economic 
justifications. 

Justifications made are not appropriately related to prior 
analysis. 

For judgements made incidentally. 

1 – 2 
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